4N2a - Order and compare numbers beyond 1000

5090
5120

4930
4890

Which is the smallest humber?

3612
3592

3585
3609

Which is the smallest humber?

A. 7900 < 8000

B. 6500 = 5600

C. 1100 > 2000

D. 3300 < 3100

Which statement is true?

A. 3099 < 3108

B. 3068 = 3608

C. 1556 > 1605

D. 8812 < 8805

Which statement is true?

3880 3990
4005
4102 3950
Smallest Largest

( )

Order the numbers from smallest to largest.

Which number goes in the shaded box?

4425
5074
5112
3954
4597

Smallest Largest

( )

Order the numbers from smallest to largest.
Which number goes in the shaded box?




